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QUESTION 1

Which tool can be used to monitora storage server in Exadata Cloud Service? 

A. OCI CLI 

B. ocpucli 

C. exacli 

D. dbaascli 

Correct Answer: C 

 

QUESTION 2

Which three statements are true regarding MySQL Database Service HeatWave? (Choose all correct answers) 

HeatWave uses periodic long-running ETL batch jobs to refresh the data. 

A. Heatwave is a in-memory,query-processing engine designed for fast execution of analytic queries. 

B. Heatwave is Exclusively available in Oracle Cloud Infrastructure. 

C. Heatwave uses machine learning to automate operations, increasing DBA productivity and reducing costs. 

D. HeatWave data which is needed for analytic processing is stored in disk files. 

Correct Answer: AC 

 

QUESTION 3

In Exadata Cloud Service, you use Oracle Data Guard for disaster recovery. What is the minimum egress requirement
needed to enable Data Guard between Exadata Cloud Services? 

A. Tcp traffic only for port 1521 and port 22 

B. Tcp traffic only for port 1521 

C. Tcp traffic only for port 22 

D. Open for all protocols 

Correct Answer: B 

 

QUESTION 4

How many IP addresses do you need at a minimum for the client subnet when you plan to have four Exadata compute
nodes onExadata Cloud Service? 
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A. 32 

B. 14 

C. 4 

D. 18 

E. 8 

Correct Answer: D 

((3 address * 2 nodes) +3 for SCANs +3 reserved in subnet ) 

 

QUESTION 5

Which statement is FALSE about using compartments? 

A. They allow you to isolate resources. 

B. They can be used to secure resources. 

C. They can be organized in a hierarchical fashion. 

D. They are a physical concept that separates users. 

Correct Answer: D 
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